20 9 ® 7 10 k-] “ o 2 n L] ° 5 4 3 z 1
Detailt Dim. \ Tol Dim. A Dim. E Dim. F
. elcu L Option +/-020 +/-0.20 +/-0.20
ok 4. i e round = R aid
’ II roun X 249 %S 177
& uN Tt nuuuu uu
OI5REF.
[E Latch
J— B _
L =
[150PITCH L
OOOOOOOOOOOG‘)G‘)\J EMI Gasket ) )
J (Optional) Without
Shield Front Panel Mount
(Optional) With . (Optionab
- 6.OREF. M2.0 REF. Front Panel Mount Locking Panel Without
See Note 7. _Front Panel Mount
A See Note 4.
A\
—
) B B
~ o
il ] S T AR - B -1 :
l o
9 q iy
LI LI -
¢ f (Optional) Crush PCB f
EM Gasket Alignment Pin (CPAP)
400 x 200 REF, 043 41 See Note 6.
™ Solder Post
L w3mer. | -
\B2/ 090 x 0.90 REF (X2) or (X4) (Optional)
"000000000000O0" NoTES:
( \E ] 1, PRODUCT SPECIFICATION PS-91525-001
2. PACKAGING SPECIFICATION PK-91525-001
3. SCREW THREAD M2.0 X 0.4 PITCH TAPED THROUGH.
M20 TYP. REF. RECOMMENDED SCREW M2 X 0.4 PITCH, LENGTH 8mm.
T ] T See Note 3.
RECOMMENDED TORQUE 0.3 Nm.
4. LOCKING PANEL (91532) ONE PER CONNECTOR
ORDER SEPARATE SEE SALES DRAWING SD-91532-001
5. PCB DATUM B = B1 + B2 + B3
6. CPAP USED TO ALIGN THE SOLDER TAILS WITH
- THE PCB SOLDER PADS.
i 7. SCREW THREAD M2.0 X 0.4 PITCH TAPED THROUGH.
gna XIM6(4x RECOMMENDED SCREW M2 X 0.4 PITCH, LENGTH Smm.
RECOMMENDED TORQUE 0.3 Nm.
e mheas 8 &[ JaUALTY] GENERAL TOLERANCES SCALE [ DESIGN INTTS THIRD ANGLE
¢ Sa9| |ypoLs| (UNLESS SPECIFIED) 5¢1 METRIC | © J projecTon |REVISE ON CAD ONLY
5 % g % mm ‘NEH DIMENSION STYLE TITLE
Sa3828lz 4 PLACES|E— [+ MM ONLY LANELINK F CONN
oM RER) o5 g :N IS v: 0 [3PLACESIE—— [x-— DRAWN BY DATE 4X AND 12X
§ g % g 2 PLACES|£010 |+-——  BRUTTLE 2003/1/18 LATCH VERSION
L= = 1PLACE [£0.2 Fp— CHECKED BY DATE
DM E 2) e N 2 § .o ANGULAR ® 2 ° WALLACE  2003/1/18 folex MOLEX INCORPORATED
oSS =54 APPROVED BY DATE MATERIAL NO. DOCUMENT NO, SHEET NO.
gZ=5%¢ DRAFTMXQT';EAMP;LN‘[ABLE MWILHTE  2003/1/16|SEE SHEETS 4 & 5| SD-91525-001| 1 0F 5
Doo=l THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
F o WITHIN DIMENSIONS INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION‘ Al
frome_A1_P_AM_T ® " ” % 5 % 8 2 “ | 0 | ) 8

rev. B1 2000/08/01

6 5 | 4 | 3 | 2 | 1




7 6 5 4 3 2 1
DM ' 575 DESCRIPTION | DMy | DM 'k’ | DM U | DM M
J
|] 4X PCB 2025 | 15.00 | 141 | 1770
|4 |o T o
! RECOMMENDED PCB LAYOUT
(WITHOUT REAR MOUNTING HOLES) SCALE 341 RECOMMENDED PCB LAYOUT
(WITH REAR MOUNTING HOLES)
0 DIM 'y 575
®2.20:0.05(x4) TYP.
SEE NOTE 2 DM 'K’ 1050
— 150, . [050]
i PITCH o ||
G (=]}
0.310:0025 TYP. _, 150 1.50 L "
ki 0.05|AJTYP. 1 [TPmTCH PITCH @ S
e.‘ § @ 39
— - o X X 3
€ | HEpE e (A
N A 9
mmEeE i S
.
3 < D t <8 ;
S 0 rE e
un|
o — ——= -
E -z V] 018299 1
NPTH NPTH See Note 5.
Edge of PCB 175 . Inner Edge Of
| . Maochine Panel Maunt
DM 'L’
. 3.20(x2) L
DIM_"M'(x2)
| oAl
c
NOTES. [&) SCALE DESIGN UNITS TH‘RD ANGLE
28] [aualmY| GENERAL TOLERANCES
|1 AREA OUTLINED TO BE FREE OF COMPONENTS. S| [l ANLESs sPECEED 51 METRIC | © 0 BROJECTION | REVISE ON CAD ONLY
2. THROUGH HOLE IS PLATED. ;% = mm INCH DMENSION STYLE TITLE
ALL HOLE SIZES ARE FINISHED HOLE SIZES. Ch838s LPLAGES[E—- |2 MM ONLY LANELINK_F CONN
3. RANGE OF PCB THICKNESS 1.6 TO 4.0mm INCL BN W0 SParEsE— [e— romwe paT 4X AND_ 12X
J— : : . g 5 mH e 7 PLACES|£0.10 [+--—- BRUTTLE 2003/1/18 LATCH VERSION
4. FOR ANY UNSPECIFIED DIM'S OR NOTES, SEE SHEET 1. S= TG e ip—
' wiz 2 LPLACE 0.2 12 WALLACE 7005116 € MOLEX INCORPORATED
5. THE DESIGN CAN ACCOMMODATE DIFFERENT VALUES OF THIS u UJ o % V 0 ANGULAR + 2 © JWALLACE 2003/1/18 N
| e er mm e on saoer Toaess ror 22ot) |V [ e oo [ [T PR o S
FURTHER INFORMATION PLEASE CONTACT LOCAL SALES OFFICE. ] %5% MUST REMAIN
_ THS DRAWING CONTANS INFORMATION THAT IS PROPRETARY TO MOLEX [ /-
F 2 WITHIN DIMENSIONS INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

tb_frame_A2_P_AM_T
rev. B1 2000/08/01 2 f 10 9

‘ 6 5 4

3 ‘ 2 ‘ 1




20 19 18 17 16 15 14 13 12 M tossd 9 | 8 7 6 | s | 4 | 3 2 1
Recommended 12X Panel Cutout Recommended 12X Panel Cutout .
without Front Panel Mount with Front Panel Mount (Optional)
Ro30MAX oM o oM Front Panel Mount
j pa
5 3 , , ,,%,77(}_ M2x0.4 Pitch
EMI
DM B’ 125_0_/
DM 'C"
Scale 21 Scale 21

Base Part Without
Optional Features

.
[hi

Panel Cutout
Centre Line

RN

{

(Optional) PCB
Rear Mounting Holes

Solder Post
(X2)or(X4) (Optional)

Recommended 12X

T — |

Panel Cutout with
Front Panel Mount
(Optional) |_48REF._| 10.2REF.
Locking Panel
Panel Cutout . .
Centre Line =] ‘,—ﬁ (Optional) Locking Panel gm A\ Tol g g Dim. oim. D
R Option . +/-0: +/-0.10
] With Front Panel Mount. 12X +-010 /010 —
. (Optional) o o 11.;5
g E Screw M2x0.4 pitch 4X 1970 2270
‘ ] Length 8mm (X2)or(X4) T2 & JQUALTY| GENERAL TOLERANCES | SCALE [ DESGN UNTS THRD ANGLE
‘ = . 35| |symgoLs| (UNLESS SPECIFIED) 411 METRIC | © T projection |REVISE ON CAD ONLY,
: R g % mm ‘N[H DIMENSION STYLE TITLE
W Aess z 7 PLACES | —— Fa— MM ONLY LANELINK F CONN
= g S(\A z 5 v: 0 BPLACESE— [1-—— DRAWN BY DATE 4X AND 12X
= (Opti UCrush PCB w2 %%‘ 2 PLACES[£0.410 [+--- BRUTTLE 2003/1/18 LATCH VERSION
ptional)Crus| Hes D8 1PLACE [£02 [£--- CHELKED BY DATE
Al t Pin (CPAP) Tz = A, ANGULAR = 2 UWALLACE  2003/1/18 folex MOLEX INCORPORATED
ignment Fin sE s i N DRAET WLERE APPLICABLE [FPPROVED BY DATE MATERIAL NO. DOCUMENT NO. SHEET NO.
f Zxg ' ' MWILHITE 2003/1/18|SEE SHEETS 4 & 5| SD-91525-001|3 OF 5
EM Gasket (Compressed) WSS MUST REMAIN THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX | |
F g WITHIN DIMENSIONS | NCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
19 18 17 16 15 14 13 12 1 0 | 9 | 8 7 6 s | 4« | 3 | 2 |




20 | ” | ® | v | %

5 | “ | B | 12 | "

Ll | 9 | 8 | 7 | 6

5 | 4 | 3 | 2 | 1

PART No. : 91525-0410

4XLL F Conn W/CPAP O/Pnl Mnt O/Rear Mnt

PART No. : 91525-0412

4XLL F Conn W/CPAP O/Pnl Mnt W/Rear Mnt

PART No.

91525-0414

4XLL F Conn W/CPAP W/Pnl Mnt W/Rear Mnt

915625-0416

PART No.

4XLL F Conn W/CPAP W/Pnl Mnt O/Rear Mnt

PART No. : 91525-0418

4XLL F Conn O/CPAP O/Pnl Mnt O/Rear Mnt

PART No. : 91525-0420

4XLL F Conn O/CPAP O/Pnl Mnt W/Rear Mnt

PART No. : 91525-0422

4XLL F Conn O/CPAP W/Pnl Mnt W/Rear Mnt

PART No. : 91525-0424

4XLL F Conn O/CPAP W/Pnl Mnt O/Rear Mnt

PART No. : 915625-0450

4XLL F W/CPAP 0O/Pnl Mnt W/2 Sdr Posts

PART No. : 91525-0452

4XLL F W/CPAP O/Pnl Mnt W/4 Sdr Posts

PART No. : 91525-0454

4XLL F W/CPAP W/Pnl Mnt W/4 Sdr Posts

PART No. : 915625-0456

4XLL F W/CPAP W/Pnl Mnt W/2 Sdr Posts

>

Z2&[ [oUALTY| GENERAL TOLERANCES | SCALE | DESEN UNTS THRD ANGLE —
“ 39| leymmols| (UNLESS SPECFED) 31 METRIC | © < pRojecTion | REVISE ON CAD ONLY
u'—_, mem mm INCH DFENSON STYLE TITLE
wh8s8ls L PLACES|E-—— |&—- MM ONLY LANELINK F CONN
NOTES: UI7$ : NN £ v: 0 [3PLACES|=-—— + - DRAWN BY DATE 4X AND 12X
1. REFER TO SHEET 1 FOR ALL UNSPECIFIED DIMENSIONS. mgﬁ ;% 2 PLACES fo.ﬂo f,,, ESHF&JKEDTEE 285%/1/18 LATCH VERSION
= a LU, r—
2. REFER TO SHEET 2 FOR RECOMMENDED PCB. LAYOUTS. Wiz = o TPLAE 02 T TWALLACE 2005/ f0l8x  MOLEX INCORPORATED
ST APPROVED BY DATE MATERIAL NO, [DOCUMENT NO, SREET NO.
Sist e o P15 MWLHTE _ 2003/1/18] 91525-04wx | SD-91525-001 | 4 0F 5
Hoo< THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
F g WITHIN DIMENSIONS  |NCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION‘ A
A ® ® w % 5 “ 8 2 " © | B | s 7 6 s | 4 | 3 | 2 | 1

_frame_A1_P_AM_T
rev. B1 2000/08/01



o | v | ® | 7 | 10

L] | “ | o | 3 | n

0 | 9 | L | 7 | ©

5 | 4 | 3 | z | 1

PART No

: 91625-1210

12XLL F Conn W/CPAP O/Pnl Mnt O/Rear Mnt

PART No. : 915625-1212

No.

915625—-1214

PART No. : 915625-1216

12XLL F Conn W/CPAP O/Pnl Mnt W/Rear Mnt

12XLL F Conn W/CPAP W/Pnl Mnt W/Rear Mnt

12XLL F Conn W/CPAP W/Pnl Mnt O/Rear Mnt

PART No. : 915625-1218

12XLL F Conn O/CPAP O/Pnl Mnt O/Rear Mnt

PART No. : 91625-1220

12XLL F Conn O/CPAP O/Pnl Mnt W/Rear Mnt

PART No. : 9156256-1222

12XLL F Conn O/CPAP W/Pnl Mnt W/Rear Mnt

PART No. : 91625-1224

12XLL F Conn O/CPAP W/Pnl Mnt O/Rear Mnt [

PART No.

1 915625-1250

PART No. : 915625-1252

PART No. : 915625-1254

PART No. : 915625-1256

12XLL F W/CPAP O/Pnl Mnt W/2 Sdr Posts 12XLL F W/CPAP 0O/Pnl Mnt W/4 Sdr Posts 12XLL F W/CPAP W/Pnl Mnt W/4 Sdr Posts 12XLL F W/CPAP W/Pnl Mnt W/2 Sdr Posts
2 &| |auALITY| GENERAL TOLERANCES SCALE [ DESIGN UNITS THIRD ANGLE
- 838 SYMBC‘]LS (UNLESS SPECIFIED) 251 | METRIC | © < projecTon ‘REV‘SE ON CAD ONLY
o838 nm_INCH MOONLY | LANELINK_F CONN
) R=t=t={F] 4 PLACES[t-—- [+-—-
NOTES: L:l:" LANSS|E v: 0 [3PLACESIE—— [x-— DRAWN BY DATE 4X AND 12X
1. REFER TO SHEET 1 FOR ALL UNSPECIFIED DIMENSIONS. Nm ; ﬁé 2 PLACES|+ 010 [+--—- BRUTTLE 2003/1/18 LATCH VERSION
2. REFER TO SHEET 2 FOR RECOMMENDED PCB. LAYQUTS. ﬁﬁ S5 g v 1 PLACEANESSAR I CWALLACE  2005/1/18 folex  MOLEX INCORPORATED
L@ = -0 *
S = s APPROVED BY DATE MATERIAL NO. DOCUMENT NO, SHEET NO.
ZESF DRAFTMSQT';EAMPZLN‘“BLE MWLHTE 20031118 91525-12%= | SD-91525-001]5 oF 5
LoD THIS DRAWING CONTAINS INFORMATION THAT IS PROPRETARY TO MOLEX
F g WITHIN DIMENSIONS INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION‘ Al

frame_A1_P_AM_T
rev. B1 2000/08/01 ® ® ” .

10 | 9 | 8 7 6

5 | 4 | 3 | 2 | 1



